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Non-Major Elective — ECONOMICS FOR
COMPETITIVE EXAMINATIONS —11

{FFor those who joined in July 2017 onwards)
Maximum ; 75 marks
PART A — (10 » 1 = 10 marks)

Answer ALL questions,

The real balance effect propounded by

{a) Don Patinkin (b} A.C. PFigou
{¢)  Alfred Marshall  (d) J.M. Keynes,
Stagflation is a new term which has been added to
epoonomic literature in the year .
(n)  1960's (b 19704

{c) 1980's {dy 1990,

-3

A long and healthy life as measured by

{a) life expectancy (b literacy rate

(e} standard of living (d) none of the above.

By inequality means the gross inequalities of
between different sections of

the society,

fa) income {b) consumption

(e} investment (d} saving.
Development has been defined

as a process resulting in a secular rise in regional
putput or real income.

{a) regional (b) national

fc)  international (d) none of the above,
The history of repional imbalance starts with
rule in India.

{a) Greeks {(bYy  British

{c} Romans (d) None of these,

Find the odd-man aut
(a) test (b) exam

{c) interview {d} emplovment.
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8. Find the odd-man out.
Blgris |r

9,  The scientific management movement of this
century has emphasised the for collecting facts
and interpreting them carefully iz known as

{a) modern research
(b) operational research
{c)  scentific research

(dy artificial research.

10. Statistics facilitates
{a) equal (b) less

(e}  more (d) comparism,
PART B — (5 % 5= 25 marks)
Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 250 words.

11. {(a) Diagrammatically  explain  the  term

stagflation.
O

(b) Write a short note on paradox of thrift.
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12. (a)
(b)
13, {(a)
(b)
14. (1)
(b)

Explain the causes of inequalities of income.
Or

Write a short note on physical quality of Life
[ndex.

What are the problems of balanced regional
development?

Or
Write a short note on brain-drain,

(i)  If Evolve is coded 974379, then
LOVE will have the code of

(1) 3479
(2) 4379
(3) 7349
4) 2379

(i) If National is coded as 26345267 then
763462 is the code for
(1) NOTION
{2y LOTION

(3) TALION
{'ﬂ ]NTD.‘%L.
Or

Write a short note on logical reasoning.
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15, (a) Briefly explain the data processing in
business.

Or

(b) What are the different ways of interpreting a
data?

PART C — (5 % 8 = 40 marks)
Answer ALL gquestions choosing either (a) or (h).

Each answer should not exceed 600 words,

16. (a) Discuss the Keynesian school of thought.
Or

(b) Distinguish between micre and maecro
eConomics,

17, (a) Differentiate  economic  growth and

development.
Or

{b) Explain the Human Development Index.
Page 5 Code No, ;22977 E

18, (a)
(b)
19.  (a)
(b)
20, (a)
(b)

Analyze the reasons for regional disparities,
Oy
Discuss the causes for brain drain in India.

Explain the various types of classification.
Or

Discuss the role of analytical reasoning in
business.

What are the wvarious definitions of
statistics ?

Oy

Explain the uses of statistical techniques in
Feonomies,
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